(B 1) Bl
BN FRRA (B =4BE1R%)

e X E2 &
(£D—) BEBERNHRE
I A X H
= B rm ® . .
T ER (5 Bk B UM A et 1,101, 708 RE R EEE 1, 184, 844
N 21,236 UGS¢ 108, 944
AR | 0 P 23, 119
IR R “ 291, 217 T 5, 662
BEE - KA 285, 945 W H AR _ 90
FBRARER - By 0 KREHERE 2, 852
V5% 5,272 RAEFE R 255, 228
Z Dfth 0 TRk EE & 610, 021
B2 B 0 T 113, 672
SC] 0 VS PR B 16, 302
A 0 EE RN - ' 14, 242
oLk 0 WEEAR 253
7S IT xRS 695, 536 -+ e Ay R 657
TR 253, 031 F 0t 33, 802
ST EH 100,526 | = #BSSRES 0
b 341, 979 BRI 42 0
A EEEG 0 rhEE 0
R R 0 THERL 33, 802
PRE R 0 ZOft 0
- RS 0 REERAEEERE 22,574
BTARS 0 Ny 22, 574
Z O 0 KEHIEE 153
VIS s SRR 0 e 151
YL ER 0 FlT 2
HEE R R R 0 EFEHAEETE 22, 421
Ry : 291 o 20, 157
a7k 24, 366 FIT 2, 264
fefmfEs - RE 0 Z Dfl 0
5l 0 TTé 0
I EL 0 R 0
e 64,616 | —IRRE~OHALZE 140, 206




(20— EEEMRINE S

‘qy B
& & &
2 H () (Fm)
=27 0
D1l 4, 446
5 AR 78
7RI o5 AR 78
RO ECE 0
B ERRE 0
FHCE 0
EEXHE 35, 420
- AEREHERE 277
KEERAHES 0
EHAEE TEH4 34, 751
F DA, 392
B - HETA X H4& 6, 346
SREAHEESE 0
ZREEAHEE 0
HLREEHEAHEE 0
ZDfh 0
N 159, 300
KEEIH 2,800
BEOEETE 156, 500
BARETEHA 31, 159
F D, 13,613
Bl & 0
Fl+ 258
e 0
FEE 0
ZERRER 0
REE RN 0
TS A 8
HEREMNE 0
HEeBAs 0
BIEEBAE 0
D 13, 347
—RRE DD DAL
& &t 1, 347, 624 & 1, 347, 624




(AR 2) PR
(20Z) BRERINCIHRE
Iz X tH
x R S X T
EEX He 0 EREREEE 46, 410
EAR MR 0 NEE 46, 410
HEE MR 0 T® 0
BB - REMR 0 PEE 0
R - HETR & 0 EAMRERE 714, 953
EARERR 0 HEEFE¥XAHEE 714, 953
EE R 0 HIhEEXAHES 0
R - REMR 0 EEHRERE 48, 978
BT 0 EiEEREEAHS 0
ZREAHES 0 HEEXAHS 0
B AR 0 HNEEL e 48,978
B MR 0 REEN - REWRERE
B - R 0 EEEEEAES 0
R MR HHEEXAHS 0
INE 1,582,680 | EAEMREHRE 0
BN 71,480 | YEEAREHE 0
EE R 0 HE&E& 0
REHRR - (REMR 0 | B& 1,511, 200
JEAEfEER 0 <otk 0
(= 0 &R RS 0
salkiii! 1,511, 200 SATHER 0
Bt &cf|EREe 1,005 THIEE 0
Z Ot 0 ERBRAEEESSE 1,793, 392
BHEEMS 0 INfE 1,793, 392
REGFE D HDIA 0 N e 1,462, 778
TR R R 0 | Tl 1,357, 175
ERE 0 FF 105, 603
hEE N6 DEAE 0 EE MR 330, 614
C RFEEENA 0 To 307, 590




(£DZ) ERERNHE

ijrd x

® A Stm ® A e
EEREERFEAES 0 FIF 23, 024
R - RAEMR 0
—REF N OBRALE 2,531, 248 T 0
EA R Fl+ 0
EE 0 B A R 0
R - (REHR 0 & 0
E AR 0 A7 0
(=34 0 - {EEAR 0
Hge 0 Pl 0
- Bfté FF 0
Z DA 2,531, 248 Z DA 0
L& 0
FF 0
—RESFT~DRADE 0

& g 4,114,933 = i

4,114, 933




